
𝑥3 − 8

𝑥2 − 4
⋅

𝑥2 + 4𝑥 + 4

2𝑥2 + 4𝑥 + 8
=? 

A)x-2      B)x+2    C)x+4/2
D)x/2+1   E)x/2-1     

A.B=24
B.C=32

A.C=48

  
𝐶

𝐴−𝐵
=?

A)5 B)6 C)7
D)4 E)2

𝑓(𝑥 + 1) = 𝑥 ⋅ 𝑓(𝑥) 
𝑓(𝑥) = 7 
𝑓(7) =?   

A)6!.5 B)7.7! C)7!

D)6! E)5!.7

𝑓0𝑔(𝑥) =
2𝑥 + 13

15
𝑔(𝑥) =

𝑥+4

5

𝑓−1(7) =?

A)10 B)11 C)12

D)13 E)15

√0,64 + √0,0083

√0,01 + √0,125
3

= ? 

A)1 B)5/3 C)5/3

D)5 E)6

(
7,5

4,8
) × (

5

4
)

−1

=  ? 

A)1 B)1.25 C)1.2

D)2 E)3



3 ⋅ 104 ⋅ 7.103

4.10−3 + 8 ⋅ 10−2
= 215.10𝑥+1 

𝑥 =? 

A)4 B)5 C)6

D)7 E)8

𝑓(𝑥) = 2𝑥 ⋅ 𝑠𝑖𝑛 𝑥 
ⅆ2𝑓(𝑥)

ⅆ𝑥2 |
𝑥=

𝜋

4

=? 

√2(8−𝜋)

2
 C)  √2(8−𝜋)

4
 B)  A)8√2+√2𝜋 

2

𝐷) 
√2𝜋 + 4

3
  𝐸) 𝜋 + 4√2 

(1 − 𝑖)6 ⋅ (1 + 2𝑖)

(1 + 𝑖)4
=? 

A)4+2i     B)6i+3 C)4-2i

D)2i-4 E)5+i

∫
𝑥 + 1

𝑥 − 1
ⅆ𝑥

1

0

=? 

A)ln4/e B)ln5 C)3

D)lne/4 E)2

4,18̅ − 0, 3̅

1,9 24̅̅ ̅̅
=? 

𝐴)1, 99̅̅̅̅   𝐵)1, 98̅̅̅̅     𝐶)1, 97̅̅̅̅  
𝐷)1, 96̅̅̅̅    𝐸)1, 95̅̅̅̅

−3 < 𝑥 < 5
|𝑥 − 6| + |𝑥 + 8| − |2𝑥 − 10| =? 

A)2x+4 B)12 C) 2x+5

D)24 E)4

     
 



(√12 − √3)(√27 + √3)

(2 − √2) (√7 − 4√3)

=? 

A)5 B) 7√3 C)12

D)10 E) 6√3

ⅆ3𝑦

ⅆ𝑥3
⇒ 𝑦 = (4𝑥 − 1)3

=?

A)4X-1 B)384  C)(4x-1)64
D)192 E)64

𝑙𝑜𝑔𝑥(𝑥𝑦)
= 5

𝑙𝑜𝑔𝑦 (
𝑥

𝑦
) = ? 

A)-1/2 B)1/2 C)1

D)2  E)-2

𝑓(𝑥) 𝑠ü𝑟𝑒𝑘𝑙𝑖 𝑓𝑜𝑛𝑘𝑖𝑠𝑦𝑜𝑛
𝑥2 − 1

𝑥 + 𝑎
𝑥 < 1

𝑓(𝑥) =  2    𝑥 = 1   

-x+bx+5 x>1

A)-1       B)-2     C)3

D)-3     E)2



(
𝑠𝑖𝑛 15

𝑐𝑜𝑠 15
+

𝑐𝑜𝑠 15

𝑠𝑖𝑛 15
) ⋅

𝑡𝑎𝑛 15

𝑐𝑜𝑡 15
=? 

A)1/3 B)4 C)2/5

D)1/4   E)√3 + 2 

𝑥

3
=

𝑦

4
= 2𝑧 

5𝑥 + 2𝑦 − 8𝑧
= 114 

𝑦 =? 

A)24 B)32 C)16
D)15 E)64

∫ (√𝑥
3

+
1

𝑥2
) ⅆ𝑥

8

1

=? 

A)15 B)95/4 C)16
D)97/8 E)17

𝑙𝑖𝑚
𝑥→8

𝑥2−64

√𝑥−2√2
=?  

A) 16√2     B)32     C)32√2

D)64 E)64√2

1

42
+

1

56
+

1

72
+

1

90
=? 

A)1/21      B)1/14 C)1/15
D)1/28 E)1/16

∫
𝑥 + 1

𝑒𝑥2+2𝑥
ⅆ𝑥

0

−1

=? 

A)e-1/2     B)e+1/2      C)2e+1/2

D)3 E)e+4



8 + 12 + 16 + ⋯ + 96 =? 

A)1186      B)1198 C)1196
D)1003 E)1006

𝑎2 + 8𝑎 − 6 = 0 
𝑏2 + 8𝑏 − 6 = 0 

𝑎 ≠ 𝑏 ⇒
1

𝑎
+

1

𝑏
=? 

A)-1/3    B)-4/3   C)2
D)4/3 E)2/3

40

11 −
15

1 −
1

𝑥 + 1

= 5  𝑥 =? 

شبيها   رةفك

A)-5/4  B)6 C)7

D)13/2 E)6/7

𝑎𝑛 =
3𝑛 + 8

𝑛 + 1
𝑏𝑛

= 3 +
𝑃 − 1

𝑛 + 1
𝑎𝑛 = 𝑏𝑛 ⇒ 𝑎𝑝 =?

A)25/7 B)23/7 C)24/7
D)26/7 E)4

𝑝 < ℚ < 𝑅 
n(p)=5     
n(Q)=7     

 n(R)=11     

R\ Q))=?  )\ (n((PuQ
فكرة شبيها 

A)0 B)1 C)2
D)3 E)4

𝑝(2𝑥 − 6) = 𝑥3 − 4𝑥2 + 6𝑥
+ 4

𝑝(𝑥) = 𝑎𝑥
3 + 𝑏𝑥2 + 𝑐𝑥 + ⅆ

d=?  
فكرة شبيها 

A)14 B)15 C)16

D)17 E)13

     
 
 
 
 

   



𝑓(𝑥) = 𝑎𝑥2 − 𝑏𝑥 + 𝑐 

4     -2

𝑓(3) =? 

A)15/8 B)2 C)17/4

D)17/4 E)3

(1,3)     

 Y=mx+n    𝑓(𝑥) = 4 − 𝑥2

m + n = ?     

A)3 B)2 C)1

D)-1      E)-2/3  

         C(3,3)          2

    b
  a

       4

a.b=? ⅆ2 ⅆ1

A)-2     B)3 C)2/3
 D)4    E)-3



|AE|=2√3
|AD|=9      

|AB|=|BC|=|AC|
|BD|=|DC|

|BE|=?   

A)11 B)12 C) 2√21

E)5√19D)4√7

2(AOC)=3(DBE)
X=?      

A)41 B)36 C)45

D)48 E)52

2|DF|=|FC|
ABCD dik dörtgen

|AC|=9  
|AF|=6  

X=?    

A)
9√3

2√2
           B)

9√2

2√3
C) 9√2

D) 
9√3

2
   C)

8√3

2√2

|AB|=|BC|=5
|DC|=21  
|AD|    |DC|  
|AD|   |BC|  

A(ADB)=X 𝐶𝑚2  

X=?         

A)15 B)47/4      C)74/4

D)18 E)21



X=?     

A)8 B)11      C)15/2

D) 19/3 E)9

X=?     

A)11 B)12 C) 8√10

D) 8√5 E)4√6

|AO|=|BO|=|OC|=3

(3,0)     
3x+4y+c=0           

A)-41        B)-38       C)-36 
D)-34       E)-33    

yamuk

X=?     

A)3 B)5√5     C)2√7

D)3√6 E)4√5



 ? 

  C) B)A)A)AAA B)AB C) CC

A)400 B)323      C)383

D)384 E)395

 32  1  0 -1-2

30 10B0 -2A  

B-A?

A)8 B)9 C)10

D)11 E)12

BCCC

CCAB

AAABB

BB

?B

5 9 20 50 135 ?



5          7 

8       ?     

A)6 B)8 C)11

D)12 E)14

4  6  

 9  

8 6 

2 

السؤال مشكوك بامره 

7  

4 5  

9  

2  5  

P=?  

A)4 B)5 C)6
D)7 E)8

A)64 B)48 C)32

D)16 E)24

A)72 B)73 C)74

D)75 E)76

7 4

6 P

93

86 84

80 ?



a        b+2           a.b
3        1 2  

2          4  = ?     

A)2 B)3 C)4

D)5 E)6

A,B Sıfırdan farklı     

A    B 
B +3   +

B   C  

Min(C) + Max(C) =?    

A)13 B)14      C)15

D)16 E)17

Hangisi diğerleinden farklıdır?  3b-a          a>b

a*b = 

 a<b 5a-b 

2*4=?  

A)45 B)35      C)-60

E)-220  D)-225     



?     

A) B) C)

D) E)

A)        B)           C) 7

D) E)

 X = ?

A)4/5 B)3/5 C)1/2

D)3/2 E)2/5

a*b= ab – (a*b).4   

2*5 = ?     

A)4 B)3 C)2

D)5 E)6

R
S

R S

R
R R

S

R S R S



فكرة شبيها 

2   1   4   
1   1   1   

2   1   2  

A)4824 B)8042 C)4248

فكرة شبيها 

A)26 B)15 C)13

D)11 E)35

17 9  2  7  5  

66 11 3  11 9  

?  6  6  7  8  

 420  1  3  14 

فكرة شبيها

? 

4220

5 6

2006

4 3

?

57



فكرة متشابها 

5307            1530       

A)4586      B)5468      C)4685
D)6654 E)8465

فكرة شبيها 

?     




